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1. If the selling price of 10 oranges is the cost

price is 12 oranges,. Then the profit percent

is :

10 12 

(A) 20% (B) 
1

22 %
2

(C) 25% (D) 30%

2. If the selling price of 40 articles is equal to

the cost price of 50 articles, then the per-

centage loss or gain is:

(A) 25% gain/ (B) 25% loss/

(C) 20% gain/ (D) 20% loss/

3. By selling 72 articles, a loss equal to the sell-

ing price of 8 articles was incurred. What is

the loss percentage ?

(A) 12% (B) 10%

(C) 9 %
9

(D) 11 %
9

4. When 17 balls are sold for ` 720, the loss is

equal to the cost price of 5 balls. find the C.P.

of a ball:

` 

(A) 60 (B) 70

(C) 90 (D) 100

5. On selling 38 balls at 2,240, there is a loss equal to

the cost price of 6 balls. The cost price of a ball is

equal to :

38 2,240 6 

[SSC CGL Mains 2019]

(A) ` 50 (B) ` 80

(C) ` 70 (D) ` 60

6. 12 copies of a book were sold for Rs. 1800

thereby gaining cost price of 3 copies. The

cost price of a copy of the book is

12 ` 1800 3 

(A) ` 120 (B) ` 150

(C) ` 1200 (D) ` 1500

7. A person buys 80 kg of rice and sells it at a

profit of as much money as he paid for 30 kg.

His profit per cent is :

80 30 

(A) 
3

27
11

            (B) 35 (C) 40 (D) 
1

37
2

8. The cost of 25 items is the same as the rev-

enue earned by selling x items. Find x, if the

profit made in the transaction is 25%

25 x 

x 25%

(A) 25 (B) 16.67

(C) 20 (D) 32

9. Cost price of 12 articles is equal to SP of 9

articles. While the discount on 10 article is

equal to the profit earn on 5 articles. Find

the difference b/w P % and D%.

12 9 

10 (D) 5 (P) 

% % 

(A) 16.66% (B) 22.22%

(C) 25% (D) 20%

10. By selling 92 kg of wheat a person gains the

selling price 12 kg of it. His gains percentage

is:

92 12 

[SSC CHSL 2020]

(A) 18% (B) 12%

(C) 16% (D) 15%

Profit & Loss
(Type-3)
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11. The profit obtained when 60 chairs are sold

is equal to the cost price of 45 chairs. What

is the percentage profit obtained when 21

chairs are given free with the sale of 77 chairs?

60 45 

77 21 

(A) 27.5% (B) 32.5%

(C) 37.5% (D) 40%

12. By selling 9 articles, a profit equal to the cost

price of 3 articles was incurred while the dis-

count on 8 articles is equal to profit on 6 ar-

ticles. Find the different b/w profit % and dis-

count %.

(A) 18.5% (B) 22.5%

(C) 17.5% (D) 21.5%

13. By selling two articles for ` 800, a person gains the

cost price of three articles. The profit percent is :

` 800

SSC CGL MAINS, 12 Sept., 2018

(A) 125 (B) 140

(C) 120 (D) 150

14. A person wanted to buy some chairs whose

cost was 200 each. Seller offer him a discount

such that after buying 12 chairs. the person

have to pay the cost of 10 chairs and rest 2

chairs at 80 each. What is the discount per-

centage ?

` 200 

12 10 2

` 80

(A) 10 (B) 20

(C) 30 (D) 40

15. The MP and CP of an article are in the ratio

11 : 7 when 4x% discount is given on MP

there is loss of 2x%. find the loss % on article

?

11 : 7

4x% 2x%

%

(A) 
2

6 %
3

(B) 
7

27 %
9

(C) 
2

26 %
3

(D) 
1

13 %
3

16. A person purchased 60 items at same price.

He sold some items at a profit of 
2

16 %
3

 by

selling them at price equal to the cost price

of 35 items. the remaining items are sold at

2
6 %

3
 profit. the total profit percentage is :

2
16 %

3
 

2
6 %

3
 

(A) 
2

14
7

% (B) 15%

(C) 
2

11
3

% (D) 
1

12
2

%

17. A person purchased 40 items at same price.

He sold some items at a profit of 30% by sell-

ing them at price equal to the cost price of 26

items. The remaining items are sold at 18%

profit. The total profit percentage is :

 

(A) 23% (B) 24%

(C) 25% (D) 26%

18. Devkaran buys x pomegranate for  y and

sells y pomegranate for ` x if x > y, then he

made:

x  y  y  ̀  x 

 x > y, 
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(A) 
x² – y²

y²
% Profit/

(B) 
x² – y²

xy
% Loss/

(C) 
x² – y²

xy
% Loss/

(D) 
x² – y²

y²
% Profit/

19. A vendor bought apples at 7 for  2 and sold

them at 8 for  3. Find her loss or gain per-

cent.

2 7 3 8

(A) 31.25% Loss (B) 12% Loss

(C) 10.5% Profit (D) 31.25% Profit

20. A vendor buys bananas at 9 for Rs 8 and sells

at 8 for Rs 9. What will be the profit or loss (in

%)?     SSC (T-II) 2017 | 20

Feb.

8 9 9 8

(A) 13.28% profit (B) 26.56% loss

(C) 26.56% profit (D) 13.28% loss

21. A man bought a number of oranges at 11 for

a rupee and an equal number at 9 for a ru-

pee. He mixed the two and sold at 10 for a

rupee. Find the profit or loss percentage.

1 11 1 9

1

10

(A) 1% loss (B) 2% loss

(C) 2% profit (D) 2% profit

22. Some fruits are bought at a rate of 11 for `
100 and an equal number at a rate of 9 for `
100. If all the fruits are sold at a rate of 10 for

` 100, then what is the gain or loss percent in

the entire transaction?                     SSC Pre.

2018

` 100 11 `100

9 ` 100 10

(A) Gain/ 5% (B) Loss/ , 5%

(C) Gain/ 1% (D) Loss/ , 1%

23. A person bought some article at the rate of 3

for ` 11 and double the no. of articles the

rate of 8 for ` 13. He sold all the articles at

36 for ` 83. Find profit/Loss % ?

` 11 3 ` 13

8 `

83 36 /

(A) 
1

33 %
3

profit (B) 50% profit

(C) 40% profit (D) No profit, no loss

24. A person bought pencil box at the rate of ` 7
for 5 pencils. He sells them at 7 pencils for `
9. He earn ` 16 as loss. Then find the num-

ber of pencils in the box?

` 7 5 

` 9 7 

` 16 

(A) 121 (B) 112

(C) 114 (D) 140

25. A man bought a number of oranges at 6 for a

rupee and an equal number at 5 for a rupee.

He mixed the two and sold at 11 for ` 2. If

the loss is  ` 2 then find the number of total

oranges.

1 6

1 5 2

11 2

(A) 2160 (B) 540

(C) 1320 (D) 270

26. A trader bought some mangoes at 3 for ` 10.

He bought another type of mango in double

of pervious quantity at 4 for ` 13. He sold all

the mangoes at 12 for ` 59. Find his profit or

loss if he had bought a total of 6 dozen man-

goes ?

` 10 3

` 13 4

` 59 12

6 /

(A) ` 220 profit (B) ` 118 profit

(C) ` 550 profit (D) ` 60 loss
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27. A person bought 7 apples for ` 3. At what

price his should sell 100 apples to get the

profit of 33%.

` 3 7 100 33% 

(A) 57 (B) 60

(C) 65 (D) 80

28. By selling 45 oranges for ̀  40 a man loss 20%.

How many did he sell for ` 24 to earn 20%.

` 40 45 20% 

20% ` 24 

(A) 18 (B) 11

(C) 14 (D) 19

29. A sold to B certain numbers of items at 3 for

` 1 later on, B Sold all the items back to A at

4 for ` 1, there by losing ` 12. Find the num-

ber of items bought by B?

A B ` 1 3 B

A ` 1 4 B

` 12 B

(A) 120 (B) 144

(C) 160 (D) 72

30. A bought certain no. of items at 1 for ` 3. He

sold all the items to B at 4 for ` 15. Later on B

sold all the items back to A at 5 for ` 12. If A

got a profit of 135 in whole transaction then

find the total CP of all the items for A?

A ` 3 1 ` 15 4 

B B A `12 

5 A `135 

A 

(A) ` 400 (B) ` 240

(C) ` 450 (D) ` 300

31. A person bought some articles at 5 for `  1
and triple the previous amount at 4 for ` 1.

While selling 25% of the total articles are

found damaged and unfit for selling. How

many articles per ` 28.5 should be sold so

that there is an overall profit of 20%?

` 

` 

` 

(A) 50 (B) 57

(C) 75 (D) 95

32. A man makes 500 articles at ` 5 per article.

He fixes the selling price such that if only

400 articles are sold, he would have made a

profit of 20% on the outlay. However, 80 ar-

ticles  get spoilt and he was able to sell 420

articles at this price. Find his actual profit?

` 5 500 

400

20% 80 

420 

% 

(A)  26.76% (B) 25.64%

(C)  26% (D) 31.63%

33. A businessman buy 20 kg of wheat at ` 15

per kg and 30 kg wheat at ` 13 per kg. To

earn the profit of 
100

3
% on a kg at what rate

per kg he should sell his mixture ?

` 15 20 

` 13 30 

100

3
% 

(A) ` 23.90 (B) ` 18.40

(C) ` 278 (D) ` 34

34. A shopkeeper bought certain number of pens

at he rate of 20, ` 60 and the same number

at  30 for ` 40. After that he realized that he

had bought only 60% of the required num-

ber of pens. he bought the rest at 25 for ` 75.

he sold the pens at 12 for ` 35. Find his pofit

and loss percentage?

` ` 

` 

` 
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(A) 
2

14 %
7

Profit/ (B) 15.5 Loss/

(C) 
2

16 %
3

Loss/ (D) 15% Profit/

35. Some fruits are bought at 15 for ` 140 and

an equal number of fruits at 10 for ` 120. If

all the fruits are sold at ` 132 per dozen, then

what is the profit percentage in the entire

transaction?

` 140  15  ` 120 

10 ` 132 

[SSC CGL 2020]

(A) 
1

3
8

(B) 
1

4
8

(C) 
1

2
4

(D) 3
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Solutions
1. (A) ATQ,

12CP = 10SP

 
CP

SP
 = 

5

6

% Profit = 
1

100
5

 = 20%

2. (A) ATQ,

50CP = 40SP

 
CP 4

SP 5

 % Profit = 
1

100
4

 = 25%

3. (B) ATQ,

72CP – 8SP = 72SP

 
CP

SP
 = 

10

9

So, % Loss = 
1

10
×100 = 10%

4. (A) ATQ,

17CP – 5CP = 17SP = 720

 CP = 
720

12
 = ` 60

5. (C) 38 SP = 38 CP – 6 CP
32 CP = 2240

1 CP = 
2240

32
 = ` 70

6. (A) ATQ,

12CP + 3CP = 12SP = ̀  1800

 CP = 
1800

15
 = ` 120

7. (D) ATQ,

80CP + 30CP = 80SP

 
CP

SP
 = 

8

11

% Profit = 
3

8
×100 = 37

1

2
%

8. (C) ATQ,

25CP = xSP

And

Profit% = 25%

 
CP

SP
 = 

4

5

So, 
25 5

x 4


 x = 20

9. (B) ATQ,

12CP = 9SP

 
CP 3

SP 4
 ...... (i)

and 
D 1

P 2
 ....... (ii)

By eq. (i) & eq. (ii)

CP         SP      MP

3            4        4.5

% P = 
1

3
 × 100 = 33.33 %

% D = 
0.5

4.5
 × 100 = 11.11%

So, % P – % D = 22.22 %

10. (D) 92 SP = 12 P

CP = 92 – 12 = 80

  %P = 
12

80
 × 100 = 15%

11.(C) That means he gives 98 chairs and takes

money only for 77 chairs.

45 C.P. = 60 SP – 60 C.P.

105 C.P. = 60 S.P.

C.P.

S.P.
 = 

60

105
 = 

4

7

21 + 77 = 98

C.P. 3P

60 105

4 :  7

×98 ×77

98 × 4 :  77 × 7

8 :  11

P = 
3

8
 × 100%
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= 37.5%

12.(C) ATQ,

9CP + 3CP = 9SP

 
CP

SP
 = 

3

4
 ............ (i)

and 
D 3

P 4
 ........... (ii)

By eq. (i) & eq. (ii)

CP SP MP

12 16 19

 % P = 
4

100
12

 = 33.3 %

% D = 
3

100
19

 = 15.8 %

So, % P – % D = 17.5%

13.(D) ATQ,

2CP + 3CP = 2SP

 
CP

SP
 = 

2

5

 % Profit = 
3

2
 × 100 = 150%

14.(A) Total Price = 200×12 = ` 2400

Atual Price = 200×10 + 2×80 =  ` 2160

% Discount = 
240

2400
 × 100 = 10%

15. (D)
CP 7

MP 11
 = 

100 4x

100 2x

 700 – 14x = 1100 – 44x

 30x = 400

 x =  
1

13 %
3

16. (C)

17. (B) Let C.P. of 40 items = ` 40

20  26%

 C.P. of 1 item = ` 1

Items    20 20

    P%    30%      18%

                  

 Overall = avg of 30 & 18 = 24%

18.(D)

C.P. = y²,

S.P. = x²

Profit = 
y² – x²

y²

P% = 
x² – y²

%
y²

19.(D)             CP                  SP

                          2                    3

                          7                    8

                         16                  21

 
5

16
 × 100 = 31.25 Profit

20.(C)             CP                  SP

                          8                    9

                          9                    8

                         64                  81

 Profit = 
17

64
 × 100 = 26.56

21.(A)                   CP                  SP

      1 orange    
1 1

11 9
                

1

10
× 2

                         
9 11

99
                

2

10

                             200                198

Loss = 
2

200
 × 100 = 1%

22.(D)    CP                          SP

   100         100       100

   11               9         10

       9            11          1

     99            99         10

Now,
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                          20                 1

                        
198

200
           

10

198

              
2 Loss

      Loss% = 
2

200
 × 100 = 1%

23.(D)                   CP                  SP

      
11 13

2
8 8

                
83

3
36

                  
83

12
                

83

12

             CP  = SP

           No Profit no loss

24.(D)             CP                  SP

                          7                    9

                          5                    7

                         49                  45

               
4`

4           16

           1             4

Pencil = 
45 4

9
 × 7 = 140

25.(A)                   CP                  SP

    
1 1 1

6 5 2
                

2

11

                  
11

60
              

2

11

                  121              120

                     

        ` 1 Loss           660

        ` 2 Loss           1320

26.(B)                   CP                  SP

      
10 13

2
3 4

                
59

3
12

                  
59

6
                

59

4

Profit 
59

12
        3 mangoes

1 mangoes      
59

36
 profit

total profit = 
59

36
 × 6 × 12 =  ̀  118

27.(A)        ` 3    7

         Let ` 300         700

          33% profit

       SP = ` 399         700

                  
399

7
       100

= ` 57

28.(A)

CP = 100
80 

120

2 

3

3 

2

Rate A

20%L

20%P

          3    45

                      2       30

Now,

         ` 40  30 

         ` 24   
30

40
 × 24 = 18

29.(B)        A B

       1 1

       3 4

       4 3

     12 12

       1L    12

     12L    144

30. (D) A               B

3              15

1                4

` `              12`

5

60             75 48

Article     20     20       20

`27       20
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   ×5             ×5

135           100 articles

Now,

  20           ` 60

100           ` 300

31.(C)             CP                   SP

           
1 3

5 4
 × 

6

5
                3 × x [ 25% ]

19

20
 × 

2

5
 = x

SP of 1 article = x = 
19

50

No. of articles = 
57 50

2 19
 = 75

32.(C)  400  120%

   20     6%

   420     126%

   Actual P% = 26%

33.(B) Rate          15         13

Quantity   
20

300
        

30

390

1 Kg CP = 
690

50

Profit = 
100

%
3

 = 
1

3

Rate per kg = 
690

50
 × 

4

3
 = ` 18.40

34.(C) Total SP = 100 ×
35

12
 = 875

Let total pen =

      

100

60% 40%

60

20
×30

40

30
×30

75

25
×40

90 + 40 + 120 = 250 × 3

            CP              SP

            750            875

P% = 
125

750
 × 100 = 

2
16

3
%

35. (A) 140  15 × 2

120  10 × 3

280  30

360  30

640        60

S.P. = 132 × 5 = 660

Profit = 
660 – 640

640
 × 100

= 
20

640
 × 100

= 
100

32
 = 

25

8
 = 

1
3

8
%


